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"Syllogism" is a noun that means "the method
of reasoning in which one can draw conclusions
from two or more statements" in which two
statements are given in such a way that they
jointly give the meaning of the third statement. In
this way we can define 'syllogism' as follows:

"The type of reasoning in which the relation
between two terms is established by a conclusion
and these two terms are equally related to a third
term.

In other words, syllogism is a logical conclusion
which is based on two or more statements.

Example

1. All humans are intelligent.

2. Rama is a human being.

3. Ram is intelligent.

Here the conclusion is drawn by a medium
term 'man' which is related to both the parts of the
sentence that are the subject, Rama and
predicate, intelligent. Thus, it is clear that we
need at least two statements to reach a
conclusion in 'syllogism'.

Questions based on syllogism include at least
two statements, followed by a conclusion. We
cannot easily consider the truth or falsity of these
statements. Syllogism may involve statements
different from commonly known facts and
sometimes seem impossible, but examinees must
accept both of these statements as true and ignore
the true meaning of the complete statements or
the terms used in the statements. The terms used
in the statements are symbols of certain classes.
Thus the statements mentioned may not
correspond to the thinking of the general
examinee.

Therefore, while solving the questions of
'syllogism', we should follow certain rules of
deductive and inferential reasoning. Not all logic
rules can be applied to logic problems.
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1. Statements / :
I. All windows are doors

II. All buildings are doors

III. All doors are boats

Conclusions / :
I. All windows areboats

II. All buildings are boats

III. Some boats are doors.

(a) Only I and II follow

 I  II 
(b) Only I and III follow

I III 
(c) Only II and III follow

II  III 
(d) All follow

2. Statements / :
I. Some radios are telephones.

II. All telephones are mirrors.

III. All mirrors are desks.

Conclusions / :
I. Some radios are desks.

II. Some radios are mirrors.

III. Some desks are telephones.

(a) Only I and II follow

I II
(b) Only I and III follow

I III
(c) Only II and III follow

II III
(d) All follow

3. Statements / :
I. All minutes are seconds.

II. All seconds are days.

III. No day is night.

Conclusions / :
I. Some seconds are minutes.

II. Some days are seconds.

III. No night is day.

IV. All minutes are days.

(a) Only I follows.
I

(b) Only I and II follow.
I II

(c) Only III follows.
III

(d) All I, II, III and IV follow.
I, II, III IV

4. Statements / :
I. Some teachers are professors.

II. Some Lectures are teachers.

Conclusions / :
I. All teachers are professors.

II. All teachers are lecturers.

III. Some lecturers are professors.

IV. Some professors are lectures.

(a) Only I follows.
I

(b) Only I and II follow.
I II

(c) Only III and IV follow.
III IV

(d) None of these.

EXERCISE
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5. Statements / :
I. All cats are dogs.

II. All dogs are pens.

Conclusions / :
I. All cats are pens.

II. All pens are cats.

(a) Only I follows.

I
(b) Only II follows.

II
(c) Either I or II follows.

I II
(d) Neither I nor II follows.

I II

6. Statements / :
I. Some wires are telephones.

II. All telephones are mirrors.

III. All mirrors are desks.

Conclusions / :
I. Some wires are desks.

II. Some wires are mirrors.

III. Some desks are telephones.

(a) Only I and II follow.

I II
(b) Only I and III follow.

I III
(c) Only II and III follow.

II III

(d) All follow/

7. Statements / :
I. All furniture are woods.

II. No wood is road.

III. Some roads are hills.

Conclusions / :
I. Some roads are furniture.

II. Some woods are furniture.

III. Some hills are wood.

(a) Only I follows.

I
(b) Only II follows.

II
(c) Only III follows.

III
(d) Only I and II follow.

I II
Directions (Q. 8 – 11): In each of the questions
below are given two, three and four statements
followed by conclusions numbered I, II, III and IV.
You have to take the given statements to be true
even if they seen to at variance from commonalty
known facts. Read all the conclusions logically
follows from the given statements disregarding
commonly known facts. Give answer –

I, II, III
 IV

8. Statements / :
I. All men are dogs.

II. All dogs are cats.

Conclusions / :
I. All men are cats.

II. All cats are men.

(a) If only conclusion I follows.

I
(b) If only conclusion II follows.

II
(c) If neither conclusion I nor II follows.

I II
(d) If both conclusion I and II follows.

I II
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9. Statements / :

I. Some books are Magazines.

II. Some magazines are Novels.

Conclusions / :

I. Some books are Novels.

II. Some Novels are Magazines.

(a) If only conclusion I follows.

I

(b) If only conclusion II follows.

II

(c) If neither conclusion I nor II follows.

I II

(d) If both conclusion I and II follows.

I II

10. Statements / :

I. Some desks are chairs.

II. Some chairs are doors.

III. Some doors are walls.

Conclusions / :

I. Some walls are chairs.

II. No chair is a wall.

(a) If only conclusion I follows.

I

(b) If only conclusion II follows.

II

(c) If neither conclusion I nor II follows.

I II

(d) If both conclusion I and II follows.

I II

11. Statements / :

I. All stars are fishes.

II. Some fishes are moons.

III. All moons are birds.

Conclusions / :

I. Some birds are fishes.

II. Some stars are moons.

(a) If only conclusion I follows.

I

(b) If only conclusion II follows.

II

(c) If neither conclusion I nor II follows.

I II

(d) If both conclusion I and II follows.

I II

12 Statements / :

I. All bricks are stones.

II. Some stones are rocks.

III. All rocks are mountains.

Conclusions / :

I. Some mountains are stones.

II. Some mountains are bricks.

III. Some stones are bricks.

(a) Only I follows.

I

(b) Only III follows.

III

(c) Only I and III follow.

I III

(d) All follow.
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13. Statements / :

Some desks are chairs.

Some chairs are pens.

Some pens are drawers.

Conclusions / :

I. Some drawers are desks.

II. Some drawers are chairs.

III. No drawer is chair.

(a) None follows.

(b) Only II follows.

II

(c) Only III follows.

III

(d) Only either II or III follow.

II III

14. Statements / :

I. No tree is fruit.

II. All fruits are stones.

III. All stones are rains.

Conclusions / :

I. No stone is tree.

II. No rain is tree.

III. Some rains are fruits.

IV. Some rains are trees.

(a) Only either II or III, and I follow.

II III

(b) None follows.

(c) Only either II or IV, and III follow.

II IV III

(d) All follow.

15. Statements / :

I. Some toffee are sweets.

II. Some cakes are sweets.

Conclusions / :

I. Some sweets are cakes.

II. Some sweets are toffee.

(a) Only conclusion I follows.

I

(b) Only conclusion II follows.

II

(c)  Both conclusions I and II follow.

I II

(d) Neither conclusion I nor II follow.

I II

16. Statements / :

I. No Rose is a flower.

II. No flower is a lotus.

Conclusions / :

I. No Rose is a lotus.

II. All lotus are flower.

(a) Only conclusion I follows.

I

(b) Only conclusion II follows.

II

(c) Both conclusions I and II follow.

I II

(d) Neither conclusion I nor II follow.

I II
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17. Statements / :
I. All boys are cricket fans.

II. Some boys are also tennis fans.

III. Some tennis fans are also volleyball fans.

Conclusions / :
I. Boys are not fans of any game.

II. Some boys are cricket fans.

III. Some boys are not volleyball fans.

IV. All boys are volleyball fans.

(a) Only I follows.

I
(b) Only II follows.

II
(c) Only III follows.

III
(d) Only IV follows.

IV

18. Statements / :
I. All men are women.

II. All women are crazy.

Conclusions / :
I. All men are crazy.

II. All the crazy are men.

III. Some of the crazy are men.

IV. Some of the crazy are women.

(a) None of the conclusion follows.

(b) All the conclusions follow.

(c) Only I, III and IV follow.

I, III  IV
(d) Only II and III follow.

II  III 

19. Statements / :
I. All the harmoniums are instruments.

II. All the instruments are flutes.

Conclusions / :
I. All the flutes are instruments.

II. All the harmoniums are flutes.

(a) Only I follows.
I

(b) Only II follows.
II

(c) Either I or II follows.
I II

(d) Neither I nor II follows.
I II

20. Statements / :
I. All elephants are camels.

II. All camels are rat.

Conclusions / :
I. All camels are elephant.

II. All rat are camels.

(a) Only conclusion I follows.
I

(b) Only conclusion II follows.
II

(c) Both conclusions I and II follow.
I II

(d) Neither conclusion I nor II follow.
I II

21. Statements / :
I. Some ants are parrots.

II. All the parrots are apples.

Conclusions / :
I. All the apples are parrots.

II. Some ants are apples.

(a) Only I follows.
I

(b) Only II follows.
II

(c) Either I or II follows.
I II

(d) Neither I nor II follows.
I II
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22. Statements / :
I. Some ladies are beautiful.

II. Some beautifuls are honest.

III. All honest are sensitives.

Conclusions / :
I. Some sensitives are beautifuls.

II. Some honest are ladies.

III. Some sensitive slows.

(a) None of the Conclusion follows.

(b) Only Conclusion I follows.

I
(c) Only Conclusion I and II follow.

I II
(d) All Conclusions follow.

23. Statements / :
I. All oranges are bananas.

II. All bananas are guavas.

Conclusions / :
I. Some oranges are guavas.

II. Some bananas are oranges.

(a) Only I follows.

I
(b) Only II follows.

II

(c) Either I or II follows.

I II
(d) Both conclusion I and II follow.

I II

24. Statements / :
I. All fruits are flowers.

II. All flowers are beautiful.

III. Some beautiful things are gold.

IV. Some golds are silver.

Conclusions / :
I. Some fruits are gold.

II. Some golds are silver.

III. Some flower are fruits.

IV. Some silver are fruits.

(a) Only conclusion II and III follows.

II III
(b) Only conclusion III and IV follows.

III IV
(c) All follows

(d) None follows.

25. Statements / :
I. All monkeys are deers.

II. All deers are cows.

III. All cows are Buffalo.

Conclusions / :
I. All monkeys are Buffalos.

II. Some Buffalos are monkeys.

III. Some cows are monkeys.

IV. All deers are monkeys.

(a) Only I and II follow.

I  II 
(b) Only I, II and III follow.

 I, II  III
(c) Either II or IV follow.

II  IV 
(d) Either I, II or III follow.

I, II  III
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